gralall a8 ) bl and
math 202.
Calculus 2.
First Exam

Date: Sunday 18 /11 /1432 H.
Time: from 20:15 to 21:45.
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QL.

csch(0) =
(A) (B) (®) (D) (E)

0 1 e undefined T
Q2.

1 — tanh?x =
(A) (B) (®) (D)

0 1 sech?x — sech?x
Q3.

If y=coth™'vx2+1 , then % =y =
(A) (B) (®) (D)

1 1 1 1

xVx2+1 xVx2+1 1—x?2 x2+1

Q4.

If F isanantiderivative of f on an

an antiderivative of f.

interval I, then G(x) = F(x) + e* is also

(A)

TRUE

(B)

FALSE

Q5.

lim, )+ tanh™'x =

y:

tanh~'x

(A) (B) (©) (D) (E)
—00 (o) -1 1 0
aia ) e Jpanllagle Cunt O cang 55 8 Jlpull IS5 58 6 &8 J) )
Q6.
lim, )+ tanh™' x =
(A) (B) (©) (D) (E)
—00 00 -1 1 0
Q7.
If f'(x) = 3¢* + == and f(0) = 4, then f(x) =
(A) (B) (©) (D)

3e* +4sin"1x+1

3e* +4sin"1x —1

3e*+4cos Ix+1

3e*+4cos 1x—1

B




Q8.

The sigma notation of 23 +33+43+ .. +n3 is

(A)
Y+ 13

(B)
Y5+ 13

(€)
XSG+ 13

(D)
Yi5G+ 13

QO.
Z]lil(] +3) =

(A)
100

(B)

(©)

87 89

(D)
98

(E)
99

Q10.

An upper estimate of the area under the curve of f(x) = x? + 4x + 4 and
the x-axis from x = —2 to x = 1 using three rectangles is

10 —

) 1 1 2 3
| | | | |
[ [ I I I
(A) (B) (©) (D)
14 11 3 5
Q1L
The integral expression of lim,_. Y=;(5x7 + x; sinx;)Ax over the interval
0.2 s
(A) (B) (©) (D)

J2(5x® + xsinx) dx

fog(zx‘* + x sin x) dx

JZ(5x3 + x cosx) dx

JE (5x3 + x cos x) dx
4

Q12.

If [’ f(x)dx =5, then [ 3f(z)dz=

(A)
5

(B)
15

(€)
-5

(D)
—15




Q13.

If [ f(x)dx =11 and [, f(x)dx = 6, then [ 4f(x)dx =

(A) (B) (€) (D) (B)
6 10 5 20 0
s 2 o Jpaalladle cuad o g 513 8, JIgadl IS5 58 14 a8 J) gl
014,
If fff(x)dx =11 and fff(x)dx = 6, then ff 4f (x)dx =
(A) (B) ©) (D) (B)
6 10 5 20 0
Q15.
If g(x) = flxlntdt, then g'(x) =
(A) (B) ©) (D)
ln_x (In x)? Inx Inx
2 2 2
Q16.
f116x_\/—;1 Ay =
(A) (B) (®) (D) (B)
105 106 107 108 109
017,
Vx
f22 X+ cosx X =
(A) (B) (€) (D) (E)
3n 0 2m 3T 1+ 2m
2
Q18.
g o
(A) (B) ©) (D) (B)
1+1In5 %+1n16 In2 In3 In 4
aia ) o Jpanllagle ot o g 518 8, Jlsall H) S5 5 19 285 J)5ud)
19.
Q J~16 1
1 2x
(A) (B) ©) (D) (B)
1+1In5 %+1n16 In2 In3 In 4




Q20.
[(1 + cot?x)dx =
(A) (B) ©) (D)
tanx + C —tanx + ¢ cotx + C —cotx+C
Q21
9e*
f (Zx — ?) d =
o ® © ©
X X
——2e*+C = —9e*+C X" —Se+C X" —qe +C

Q22.
If g is an even function and " g(x)dx = 12, then fon%dx =

(A) (B) (€) (D)
2 4 6 3
Q23.
g 2x+sinx _
—5 5x*+x2+1 B
(A) (B) (€) (D)
cos?(3) g +2 0 cos 3
024,
f02|4 — 4x|dx =
(A) (B) (€) (D) (E)
6 4 3 2 1
s 3 o Jpanllagle cund o gy 524 a8, JIsall ) S5 g8 25 a8 J) )
Q25.
f02|4 — 4x|dx =
(A) (B) ©) (D) (B)
6 4 3 2 1
Q26.
[ xcos(x?)dx =
(A) (B) (®) (D)
—2sin(x?) + C zsin(x?) + C sin(x?) + C —sin(x?) + C




Q27.
J-e4 3dx
e xVinx

(A) (B) (©) (D)
8 6 10 4

s 2 o Jpaalladle cuad o iy 527 8, JIgadl I S5 58 28 a8 J) gl

Q28.
fe‘* 3dx
e xvinx _
(A) (B) (€ (D)
8 6 10 4
Q29.
[4@*+39) . (6x +9)-In4 dx =
(A) (B) (€ (D) (E)
12(x2+3x) + C 4(x2+3x+1) 4(x2+3x+1) 3 . 4(x2+3x) + C 4(x2+3x) + C
(x243x+1)In 4 m
i ) e Jaaallagle a0 sy 929 a8 ) Jlsaall ) S5 58 30 a8 Jl sl
Q30.
[4@*+39) . (6x +9)-In4 dx =
(A) (B) (®) (D) (E)
12(x2+3x) +C 4_(x2+3x+1) 4(x2+3x+1) 3- 4(x2+3x) +C 4(x2+3x) +C
(x243x+1)In4 m




